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Quifwer / PHYSICS
(S0P wHmb pmdle euyl / Tamil & English Version )

sre sema] : 3.00 wentl CHrwW | [ Qs wHLGuaTssT @ 70
Time Allowed : 3.00 Hours | [ Maximum Marks : 70

Sifleyenrsen : (1) eoarsg elarsserd slurst udeurdl o drersr earaTUgMTS
sfluriggé Qardreteyd. FeaLLHeler @Gapull@mulde, @Ds
seETentiuuTeTiD o L anguwirss Cgflelésea.

(2) Beob ooy smUY owllaear wLLECL aWgsHEWD
S &CasmyHeusH@GL vwauBhss Cauam@Hb. ULRSET eumyeusnE
Guerdléy LweTUHSSaLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

UGS - I/ PART - I

GOy : (i) Semess ellamss@rsEn efleLwefléseb. 15x1=15
(i) Gar@ésiu’_(Herer wrHM edlenL safled WEayD gHLmLW eNemLws
Caibds®ssis GHULHLer efeuleanyb Csigg eTpseylb.

Note : () Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

GHAML_TERET A@IGIET (PG eperim sHmILILITangaseflen oy risaiien elfsw ;

(=) 1:2:3 (p)1:2:2 (@) 1:4:9 (Fr)
The ratio between the radius of first three orbits of hydrogen atom is :

@) 1:2:3 (b) 1:2:2 (c)j 1:4:9 (d 1:3:5

I wpmid 41 gafls Qedeyser Qaram. Gream® eheap Hp ¢iflue afléapepnaar
ganiLer gam CupAurmbsifamar. Qsrguwer WbUSS e grgdwiomer Gumo
wpmib Spio geflé Gsdloyser perpGu

(<=4) SI Hmb I (<) 5I wpmd 31 (@) 91 wpHmid 1 (FF) 9T pmid 31

Two coherent monochromatic light beams of intensities I and 41 are superposed.
The maximum and minimum possible intensities in the resulting beam are :

(a) 5land]l (b) SI and 3I (c) 9land]I (d) 9I and 3I

230 V Wenampss cpasgLe @amarssiul L sblduled dper @l P;.
<&sDEWwrerg @@ swwrear UGSHsemrs Heul L LIUL G, Q@6 S@THSHEHLD U&ES
Qean9é 2Gs Wenanpss aposgiLer Qeamanssliu@deamear.  Qbblaeuie

Hmer @i P, erafled %2_ erargld eSlISID :
1

(1) 1 (=) 2 @) 3 . (FF) 4

A wire connected to a power supply of 230 V has power dissipation P, Suppose the
wire is cut into two equal pieces and connected parallel to the same power supply.

In this case power dissipation is P,. The ratio P s
Py

(a) 1 (b) 2 (c) 3 (d) 4
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Weneumeuareupmiar allamSarser Wargeugparer sflwirer SnyeTd erg) ?

(1) gofl er@Qurafiiiy (<) pp 18 erdlGlmefliiy
(@) qafl cllowsd (rr) ser ellenera]

Stars twinkle due to :

(a) Reflection (b) Total internal reflection
() Refraction (d) Polarisation

@@ &hhé wrmHes WearGearmi L b wHmd Wenan(wss Coumuriyer seamGoy
; 1. . 1 .
wAuyser peopbw 1= 5 sin (100mt) A wOMIDO v = _\/_5_ sin (IOO—n-t + %)V

< GWL. a&pdledr HHFUULL srrefls Spen (euml sjedle)

(<) 2 () 2 @ L s

The instantaneous values of alternating current and voltage in a circuit are

i = L sin (1007t A and v = —= sin (IOOfn't + g)v

V2 V2

The average power in watts consumed in the circuit is :

1 J3 - 1 -
r 2 (@)

(a) (b) - ()

4

00 | =

&lu gefller srref iemefard 550 nm wHMID e syrafl e 3.8x 1026 W
afled, Glu ealldimpog em elammy Crrédd wallgaflar samsar CUDSFIGW
o oGUIL_L_rrenaeflen symafl erananfléanswreng) :

(@) 105 (<25) 10%2 (@) 105 () 10!

If the mean wavelength of light from Sun is taken as 550 nm and its mean power
as 3.8%x1026 W then, the average number of photons received by the human eye
per second from Sunlight is of the order of :

(a) 104 (b) 10%2 (c) 1054 (d) 103!

[ Hmuys / Turn over
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7.

2% 105 NC~1 ndliiyerer Wemyeggler 30° @(HRIGenLLIL Carandsled WSlest G(HEpener
Qem &L (HeTaTg). Sigen g Qeudu@id 'e_f,]@uuaﬂem&uﬁlsiﬂ iy 8 N.m.
Wer Qmepenanuden Herb 1 Qg.8. erafld ayeTer @B Wengsaflen Wlemam L
ereqr WSl :

(<) 4 mC (<) 8 mC (@) 5 mC () 7 mC

An electric dipole is placed at an alignment angle of 30° with an electric ijleld oi
2% 105 NC~ 1. It experiences a torque equal to 8 Nm. The charge on the dipole i
the dipole length is 1 cm is :

(a) 4mC (b) 8 mC (c) 5mC (d) 7 mC

GrrenGanrui euflaer ereueuens Hpwraass rHassEsTH ?

(<=1) aufl Geuaflld® ; (<=y,) cufl 2 seurm

(@) uleL Geusaflui(m (FF) ulenL 2 L saurm
Fraunhofer lines are an example of spectrum.
(a) line emission ' (b) line absorption
(c) band emission (d) band absorption

;Li Sigmsameilen Hepurars Sdaierer smabg Husaflurasaiiar Qurgs
Blenperw &L 0.042 u @smmeﬁrra; o arergl erefled ;Li W) & & (Hellen (M
By safwreyssrer grmafl GeentiL pHMe :

(<=1) 46 MeV (<) 5.6 MeV (@) 3.9 MeVv (FF) 23 MeV

The mass of a 71; nucleus is 0.042 u less than the sum of the masses of all its
3

nucleons. The average binding energy per nucleon of ;Li nucleus is nearly :

(a) 46 MeV (b) 5.6 MeV (c) 3.9Mev ~ (d 23 MeV
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10. @ sb@dfa Qaiuflma WeammL eram 0.00125/°C. 20°C Qeuduflamauid
sbQuier WaseL 1 0 aalld s Qeaiuflaauier @igenr WleagenL. 2 Q) o@D ?
(<) 800°C (<) 700°C (@) 850°C (7r) 820°C

The temperature co-efficient of resistance of a wire is 0.00125 per °C. At 20°C, its
resistance is 1 Q. The resistance of the wire will be 2 () at :

(a) 800°C (b) 700°C (c) 850°C (d) 820°C

11. ZnO Qummefer &&6m ety 30 nm. uflwremddlen siglitamLuld Qg
eran euansLUMSSILHEDE).

(<=1) Curerey Qumper (<=4) prGenm Quimmer

(@) Quenenwwren GQummHET () amhsl Qummer

The particle size of ZnO material is 30 nm. Based on the dimension it is classified
as :

(a) Bulk material (b) Nanomaterial

(c) Soft material (d) Magnetic material

12. @@ AC Wenspilen L, C wpmid R -er wdliyser wpeppGuw 1 H, 9 F wpmd 3 Q,
arafled, Qb Wen sHPler Srésrrentlumeng :

() 3

O | =

(=21) 1 (<) 9 (8)

The value of L, C and R of an AC circuit are 1 H, 9 F and 3 ( respectively. The
quality factor for this circuit is : '

(a) 1 (b) 9 (c) = (d) 1

Ol
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13.

14,

15.

S Cle.f repd 50 SHMISEHD Qsram. eyl L allgels s019§ smeter aflGy
3 wlwi Ve uriifpg. @ssbL9E speflen &THS DOy oarg
Sotiugnafier wdiiy erarar ?

(1) 1.0 Am? . (@) 1.2Am2 - (@) 0.5 Am? () 0.8 Am?

A circular coil of radius 5 cm and 50 turns carries a current of 3 ampere. The
magnetic dipole moment of the coil is nearly :

(a) 1.0 Am2 (b) 1.2 Am? (c) 0.5Am? (d) 0.8 Am?

0.9 eV wpmid 3.3 eV SGurlLmer ypmed Qasram Gre(® sérei&aadr qm
2 Caorsls urin9er Bg) 055HSs Apdanpar. 2 Cansgglen QeuafllCudm e
0.6 eV erafled, @@ Cpieysaicd Qmaﬂaﬁ]Luu@Lip_GFGUél'—W@mG‘ﬂm UL
Gausruseflen gae, :

(=)1:4 (<3 d(@)1:1 - (m) 1:9

Two radlatlons with photon energles 0.9 eV and 3.3 eV respectively are falling on
a metallic ‘surface sucti:esswely It ﬁae Work function of the metal is 0.6 eV, then
the ratio of maximum speeds of emitted electrons in the two cases will be :

(@ 1:4 b 1:3 79 1.1 d 1:9

@i Gt ey o JBEHND HAssUILLL WaassD G LiEy BasmLis
SeflssliulLre, 2 eraf(h esms ImLT g6 aThs LGSl L@ WerCesrm_LLb
umywo ?

(1) 0° - 90° (1) 90° - 180° (&) 0°- 180° (/) 0°- 360°

If a positive half-wave rectified voltage is fed to a load resistor, for which part of a
cycle of the input signal there will be current flow through the load ?

(a) 0°-90° (b) 90°- 180° (c) 0°-180° d) 0°- 360°

Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

9
l
|
i
.
:
r
)
»

!

www.Padasalai.Net www.CBSEtips.in

7 6317

L@$! - I/ PART - II

@OlY : stemauCuand M NeTrssEns s aﬁ]ma..u.mﬂé;asm@. cllenr erar 24 -&@

sLLmwns aflevweaflésab. 6x2=12

Note : Answer any six questions. Question number 24 is qqmpnhory.

16.

17.

18.

19.

20.

21.

22,

23.

greOul L Wlarallwé@ eflangeni 2 Haums@h euflsamard saps.

Mention the ways of producing induced emf.

Hpigg Wleaman@ssid - cuenrumssayLD.
Define stopping potential.

Um 2agnd sglisefler @@ LWLATUTQS®ETS Fams.

Give two uses of UV radiation.

gafl ellwse eram 1.33 Garam gnu Fher ayfCu Qsdgib gafllflenr Gausgeags
STEHTS.

Pure water has refractive index 1.33. What is the speed of light through it ?

cllensullen siqlitienL ufled i - QUENTIINIESEYLD.

Define ampere in terms of force.

EmBESIBD GTaMDITEDd eresment ?
What is rectification ?

srev efleniud sams.

State Gauss law.

g Hlevn G - umrumiEseLD.

Define atomic mass unit.

[ Hiliys / Tum over
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24. 12 Vllasaisgsa @Qoarssliulerar 2 Q whmb 4 L) 67 &P LWL T & &l 5 it
gueauradp@id @maGs o dar e (pds CoupumbeEemens sras. GLEID @bhs

WeramMled o drar Csm@uer GG LenILIg &Tens.

R, Ry
—\WW\ AW
2Q 4 Q
| 1
|
+ 17—
12V

Calculate the equivalent resistance for the circuit which is connected to 12 V
battery and also find the potential difference across 2 and 4 resistors in the

circuit.
20 40
I |
J_
+1'—
12

u@&s - III / PART - III

GOy : eTemeuCuienid oM eleTésERsE e walssan. e eram 33 -&@
SLL_muwns elenwefl&Esea. 6x3=18

Note : Answer any six questions. Question number 33 is compulsory.

25. Qeansl () WaGCssdulgiar Gelss aussLLBL YDDISSTET FETUTL L
Qums.

Obtain an expression for energy stored in the parallel plate capacitor.

26. 0.500 T gjeraydrer &rmar sSMHEUILOSHDEGSE ComGESTS QFd@Ib THLTTeT QaTn
2.50 mm greeLw alLluragaw Cuptsrdaéng aafio, oigar Caussass
ST,

An clectron moving perpendicular to a uniform magnetic field 0.500 T undergoes
circular motion of radius 2.50 mm. What is the speed of electron ?
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gafl 2 flpa) WeswsHar ey wpph Cama Qe ssms 6d6rsEs.

Give the construction and working of a photo emissive cell.

GNEELD efenereys@d efefiby efeneraysEb o cter GaumuUrBaEeT wireney ?

Mention the differences between interference and diffraction.

Cenit LGWT® eranpred eraman ? @sen LwaLTIPEET FCsEID Gramgmens
GO Ds.

What is Zener diode ? Mention any two uses of Zener diode.

§Qus elenetey eremmmed ereman ? QLG eflenerefan LLGTLITHSET WTene ?

What is Seebeck effect ? State the applications of Seebeck effect.

CasCer(® sdiseaflen LM smen eT(pg!s.

What are the properties of Cathode rays ?

Cpiigders NenGarm L seng el wrmslers WenGearmL b Appsg - eleréss.

AC is advantageous than DC. Explain.

eparfl, smpled i) gefleflasd eramm 1.5 wdHmid SO OF.u5 Hig Loei QsmeTL samemmg Ul geT
Qedflpgl. samammguier gaflufien Geusid erean ? WHMLD SETERTTIGPWE SLHS)

Gere gafl erEHS Camemend ChyD eramem ?

Light travels from air into a glass slab of thickness 50 cm and refractive

index 1.5. What is the speed of light in the glass slab and what is the time taken
by the light to travel through the glass slab ?

[ HlpLiys / Turn over
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u@S - IV / PART - IV
5x5=25

Gy : oiemensgl NeTTESEhHEL ofen_waflGsaLd.

Note : Answer all the questions.

i soaEEHNa sLaQF HlaassTar (rﬁ]ugbg,smafremuu CQum&.
3|06V G)

sdflués SI@SHHeTen AenT QUL ST oM

GTEIMITE) GTeDteur ?

34. (=) ailevGLrm

(<) (1) b &yrsf L ETELD

(i) OsrLssseerar sHfwsss e -14 DG cTaTanT &SNS 10,009
crafld, 22,920 oyamdEEsEU GG eﬂsmgeusm;u.nrrwc’o QHEGD
S\ ) & & el aanafsmsmus sansdHE. griruen-14-6r1 A
<L smeod 5730 < GT(HSET.

(a) Obtain the condition for bridge balance in Wheatstone’s bridge.

OR

() (i) Whatis half-life and mean life of a radioactive nucleus ?

clei of carbon-14 undecayed after 22,920

(ii) Calculate the number of nu
carbon-14 atoms is 10,000. The half -life

years if the initial number of
of carbon-14 is 5730 years.

35. (=) qaflliler Caussmss SETLOILD oolbedlyy (penpenw eSeufl&sHa]L.

S|6V60F)
(<) (i) WDlensTbs Sasailer La@Tsmend smis.

(i) emLab genfler @ULLD STHS o [ GHmer 2.5 HmID GLLie
ApHen 2.25 erafled, e siHar gaflallased erameand STES.

o e

(a) Describe the Fizeau’s method to determine the speed of light.
OR

(b) (i) Write down the properties of electromagnetic waves.

The relative magnetic permeability of the medium is 2.5 and the relative
electrical permittivity of the medium is 2.25. Compute the refractive

(i1)

index of the medium.
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(1) eumenr g Ay QupBlufen enoliL] wppitd Galemen GlFuwiud cfzgemg allifleurs
Qﬂm&&mlb_
IV H

() &LE mamGannad gorfoma ofaflbg, g o GLAU®mbsSEDHSETE
Careauaus Qupys.

(a) Explain in detail the construction and working of a Van de Graaff generator.
OR

(b) Explain about Compound Microscope and obtain the equation for the
magnification.

(<) @ Gorg sbAssmarsar Qe Gu o arar uflrHm WeTETRTL O 6T ek
FLOLDM(GLD Grs'muémg,é; STL(H&. (M;,=M;y)
V6V
(=) worisaflen wpaa wHmb Gream_reug Capmhsmens dad Blapiésea|w.
(a) Show that the mutual inductance between a pair of coils is same (M;,=M,,).
OR

(b) State and prove De Morgan’s first and second theorem.

(1) () 5GBS NeTssmisEnL6m marevealsr qgaflller Foemurl e 1 Qums.

(ii) o CurlLrenseflenr fplibudyseer UL igwied(Hs.
ATV

(<) sThpgsliyossled @assuul Barer BerGearmLib urub sLgduler g
Qewou@b almsssrar Careneuami au(Heill&Esa]Lb.

(@) (i) Obtain Einstein’s photoelectric equation with necessary explanation.
(11) List out the characteristics of photons.

OR

(b) Derive the expression for the force on a current carrying conductor in a
magnetic field.

-00o0-
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